
NOTES

 1
/2

 ’’
 9

/1
6 

’’

 7/32 ’’

 7/32 ’’  1/32 ’’

 1/16 ’’
 2

7/
32

 ’
’

 1
1/

32
 ’’

 1
/4

 ’’

 3
/1

6 
’’

1 
21

/3
2 

’’

1’’

CLAMP BAR DETAIL

 9/32 ’’

5 3/4 ’’

3 3/4 ’’

3  11/32 ’’  21/32 ’’

 7/16 ’’

1 3/8 ’’

 1
/4

 ’’

3
  
9
/1

6
 ’

’

BAR SECTION

 1
/2

 ’’
 3

/4
 ’’

 3
/8

 ’’
 3

/8
 ’’

 1/4 ’’

 1/8 ’’

DIMPLE ‘‘A’’

 1
/4

 ’’
 1

/4
 ’’

D
IA

.
D

IA
.

DIMPLE ‘‘B’’

7’’ 8’’ 3’’

3’-0’’

DIMPLE ‘‘B’’

DIMPLE ‘‘A’’B

B

SECTION B - B

EXPANSION BAR DETAILS

CLAMP ASSEMBLY

( 4 REQUIRED PER POST )

4’’

 23/32 ’’

RAIL SECTION

AXIS

MINOR

4  3/4 ’’

 3/4 ’’

 1/8 ’’

 1/2 ’’

 1/4 ’’

 15/32 ’’

4
’’

 3
/4

 ’’

 1
/8

 ’’

 5
/1

6 
’’

 3
/1

6 
’’

 1/16 ’’

 5/16 ’’
MAJOR

AXIS

SEMI-ELLIPSE

4  3/4 ’’

4
’’

1 1/4 ’’

RAIL CAP

SHIM DETAILS

 7/8 ’’

REAR PLATEFRONT PLATE

2 1/4 ’’

1 3/8 ’’

5 
1/

2 
’’

7 
3/

8 
’’

 1
5/

16
 ’’

 1
5/

16
 ’’

2 1/4 ’’

1 1/4 ’’

5 
1/

2 
’’

7 
3/

8 
’’

 1
5/

16
 ’’

 1
5/

16
 ’’

1’’

THREADED STEEL INSERTS

WITH CLOSED BOTTOM TO

ROUND WASHER.

ELEVATION

RPW

SIDE VIEW

4  5/8 ’’

5
  
1
/2

 ’
’

4  5/8 ’’

7
’’

5  1/2 ’’

PLAN

  1/4 ’’  ( TYP.)

4-BOLT METAL RAIL ANCHOR ASSEMBLY

CHECKED BY :

DATE :

DATE :

ASSEMBLED BY :

DRAWN BY :     EEM  6/94

CHECKED BY :  RGW  6/94

SHEET 2 OF 2

FIT   3/4 ’’ � BOLT WITH 

REV.   8/16/99   MAB/LES

 D.

 E.

 F.

 C.

 B.

STRUCTURAL CONCRETE ANCHOR ASSEMBLY

 A.

STANDARD

STD. NO. BMR4

2 BAR METAL RAIL

REV.   5/1/06R   KMM/GM

MINOR

AXIS

TO FIT RAIL

SECTION

NOTE :

SHIMS MAY BE CUT ALONG PERMITTED CUTLINE OR

SLOTTED TO EDGE OF PLATE TO FACILITATE PLACEMENT.

À  7/8 ’’ � HOLES

( PERMITTED

CUTLINE )

À  7/8 ’’ � HOLES

( PERMITTED

CUTLINE )

0.375" � 

WIRE

STRUT

 1/2 ’’ � [13 THREAD] HOLE FOR  1/2 ’’ � X 1’’  STAINLESS STEEL

HEX HEAD CAP SCREW & 1 1/16 ’’ O.D.,  17/32 ’’ I.D.,

 1/16 ’’ THICK WASHER (TYP.)

THE STRUCTURAL CONCRETE ANCHOR ASSEMBLY SHALL CONSIST OF THE

FOLLOWING COMPONENTS :

FERRULES SHALL BE MADE FROM STEEL MEETING THE REQUIREMENTS OF AASHTO 

M169, GRADE 12L14 AND SHALL HAVE A MINIMUM LENGTH OF THREADS OF 2’’ 

FOR  3/4 ’’ FERRULES.

 

4 -  3/4 ’’ ~ X 2 1/2 ’’  BOLTS WITH WASHERS. BOLTS SHALL CONFORM TO THE 

REQUIREMENTS OF ASTM A307.  BOLTS AND WASHERS SHALL BE GALVANIZED. 

AT THE CONTRACTOR’S OPTION, STAINLESS STEEL BOLTS AND WASHERS MAY BE 

USED AS AN ALTERNATE FOR THE  3/4 ’’ ~  X 2 1/2 ’’  GALVANIZED BOLTS AND 

WASHERS.  THEY SHALL CONFORM TO OR EXCEED THE MECHANICAL REQUIREMENTS 

OF ASTM A307.  THE USE OF THIS ALTERNATE SHALL BE APPROVED BY THE 

ENGINEER.

 

WIRE STRUT SHOWN IN THE CONCRETE ANCHOR ASSEMBLY DETAIL IS THE 

MINIMUM ALLOWABLE SIZE AND SHALL HAVE A MINIMUM TENSILE STRENGTH OF 

100,000 PSI.  AS AN OPTION, A  7/16 ’’ ~ WIRE STRUT WITH A MINIMUM TENSILE

STRENGTH OF 90,000 PSI IS ACCEPTABLE.

 

THE METAL RAIL ANCHOR ASSEMBLIES TO BE HOT DIPPED GALVANIZED TO

CONFORM TO REQUIREMENTS OF AASHTO M111.

 

THE COST OF THE METAL RAIL ANCHOR ASSEMBLY WITH BOLTS AND WASHERS

COMPLETE IN PLACE SHALL BE INCLUDED IN THE PRICE BID FOR LINEAR FEET 

OF METAL RAIL.

 

BOLTS TO BE TIGHTENED ONE-HALF TURN WITH A WRENCH FROM A FINGER-TIGHT 

POSITION.

REV.   10/1/11               MAA/GM

THE CONTRACTOR MAY USE ADHESIVELY ANCHORED ANCHOR BOLTS IN PLACE OF THE

METAL RAIL ANCHOR ASSEMBLY.  LEVEL ONE FIELD TESTING IS REQUIRED, AND THE

YIELD LOAD OF THE  3/4 " ~ BOLT IS 10 KIPS.  FOR ADHESIVELY ANCHORED ANCHOR

BOLTS OR DOWELS, SEE THE STANDARD SPECIFICATIONS.

WHEN ADHESIVELY ANCHORED ANCHOR BOLTS ARE USED, BOLTS SHALL MEET THE 

REQUIREMENTS OF ASTM F593 ALLOY 304 STAINLESS STEEL WITH MINIMUM 75,000 

PSI ULTIMATE STRENGTH.  NUTS SHALL MEET THE REQUIREMENTS OF ASTM F594 

ALLOY 304 STAINLESS STEEL AND WASHERS SHALL MEET THE REQUIREMENTS OF 

ASTM F844 EXCEPT THEY SHALL BE MADE FROM ALLOY 304 STAINLESS STEEL.

PLANS PREPARED BY:

W. B. ALLEN 5/15

Z. H. BROWN 6/15

( 72 ASSEMBLIES REQUIRED )

S-19NO. NO.BY: BY:DATE: DATE:

REVISIONS SHEET NO.

TOTAL
SHEETS

STATE OF NORTH CAROLINA

RALEIGH

DEPARTMENT OF TRANSPORTATION

1
2

3

4

1
:4

0
:3

9
 P

M
R

:\
S

tr
u
c
tu

r
e
s
\W

5
5
1
8
_
S

M
U

_
2
M

R
_
0
3
.d

g
n

1
0
/2

/2
0
1
5

THIS STANDARD DRAWING REVIEWED &

ADOPTED FOR USE AT THE REFERENCED

LOCATION BY THE UNDERSIGNED:

PROJECT NO.

COUNTY

STATION:

COLUMBUS

24+06.36 -L- POT

W-5518

SEAL

 

E
NGINEER

P
R

OFESSION

A
L

NO
RT

HCAROLINA

L.

KEVIN AU ST
IN

019661

33

DocuSign Envelope ID: 9BFEBB92-FFFE-4506-85FC-738223216D52

10/2/2015 


		2015-10-02T11:39:56-0700
	DocuSign, Inc.
	Digitally verifiable PDF exported from www.docusign.com




